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1
1. Solve the equation by factoring. X 57’" (/ 2 —YE < : Y= A 7('/37 ot /( - _iif v
\ /e / o 7
8x2 +10x=7=0 [
=% b C2-7 /-—-(/ov+ 73) & /é £ ga A= - /e, :
The sol&tlon set is { F
(Use a comma to separate answers as needed.) ; A/ ( I 0{ X - . l= 7)
e K E 0T SeoT22y ) -
nswer: — 7 R [
274 ¥=4) 0% X=% L
Y=ot t/zzq
ID: 1.5.
> ,{/’ "'/u"’/a’ b — ——
—— Eize e
2. {. ._JQ-)-I/ é
Solve for x using the quadratic formula,

The solution set is
- ( /7) + /————-(Type an exact answer, using radlcals as needed. Express
x? - 12x+52=0 ‘\/ Z) ( '/9 9‘//)[5 Ocomplex numbers in terms of / . Use acomma to separate
Gz ) b+, ¢=s1 =

answers as needed.) < )(

X< /z—/ 2244
( X%r N
3. i

P

’Z"*W
Answer. 6+4i 6—~4¢ %’

6 (//1

%

ID: 1.5.73 ___#__L______ﬁ____

In a round-robin chess tournament, each player is paired with every other player once. The function, shown below, models
the number of chess games, N, that must be played in a round-robin tournament with t chess players.
chess tournament, 66 games were played +How many players entered the tournament?

In -ro"l:lm
t“ -t 6¢ = {Zé l'-. /32 /
N=—— Z \ 662 |
2 6 . |
= §_£_(: v 27.¢
How many players enterLd the tournament? \ / 9
:’ players (Simplify your answer) \@ __;I
§6(1) I (€Le? i
Answer: 12 /BZ.d 6 —C

o< éz --6 — 134
ID: 1.5.131

O +E~12)
24 CEHliTo oR €—f2-o

Erit~1) = o~1/ on € —[ZF[FF0F) L
( Zf""‘/) ﬁ/(<f~/7~ )
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* M = = ﬂ <5, bty )
4. Solve the given radical equation. gheck all proposed solutions. KJE/ ;) d g ( . —j( 12/

3= (X (Krs)
f2x+13=x+5 &xr - ( - (-r ﬂ
2x— (5 = X S e X2 (ST 7 MLl < Fe
Select the correct choice below and, if necessary fill in the answer box )o cpmplete your chaice ) - S

ZX 13 = X epon £ | V~4rr3s = ~2r 5
O A. The solution setis { 3. | (/T =
(Use a comma to separate answers as needed.) - J
O) B. Thereis no solution. (J = )( Lrrox 725 — X —1p, ———Nzﬂ’:\%ﬂ_ﬂﬁﬂjwf

O x +rx+12 ) 2berv13= €6 *s
Answer: A, The solution set is .(Use a comma tgfseparale answers as needed.)

0 < (s +Z.)6<+G) ,jh S~2r73 = —6rs
1615 X¥T2LSO ot XTEE2 2 i, ﬁﬂ D
gL 0 T JA K== d— I~ N i B

5. Evaluate the functi f X} = %% - 3x+7.at the given values of the mdependent variable and simpiify.
7a

™

a. f(3) b (x+8) ¢ {(-%) r/’s) (3) "3/3)7"7

a. = implify your answer. 7/(,5) (3 / (3) ’—3 /’3)* 7
f(3) l (Simplify y ) f? /__ 7,/+ 7

b. f(x+8)= l (Simplify your answer.)
c. f(-x)}= i (Simplify your answer.) @

Answers 7 7(()('/' 7) é/“f') 36(7‘7)—7‘7
x2 +13x +47 )(—/‘ﬁ (/'/’57)/)(—,’—37) - ?(A/%ﬂ-r‘ 7
RN (r §) & xS b+ r69—3X 2% +7

orn e )= X 13 aazy)

fe)e (%) =37
Al—x) = [—i)fzj;‘j/—x)f’i

@x)’ X +3A/+7 )

o -
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6.
Graph the given functions, f and g, in the same rectangular Ay
coordinate system. Then describe how the graph of g is 10+
related to the graph of f,
fix)= x ]
x)=x-3 .
9(x) 6
Use the graphing tool to graph the functions.
How is the graph of f shified to get the graph of g? X
10 5 | 5 10
The graph of g is the graph of f shifted (1) ]
-5
-10-

{1) ) down

D C AYETS

Answers

(1) down j( )) .

ID: 2.1.39
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7. Use the graph to determine

- —

o ™

https://xlitemprod.pearsoncmy.com/api/v1/print/math

Cocrecsny ¢ G

4-af 32

4
{a) open intervals on which the 2_‘ :
function is increasing, if any. ] fr x
{b) open intervals on which the 7654304 1AIALET
function is decreasing, if any. -2
{c) open intervals on which the “
function is constant, if any, -

{a) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The function is increasing on the interval(s)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(2) B. The function is never increasing.

{b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is decreasing on the interval(s)
(Type your answer in interval notation. Use a comma to separate answers as needed.}

{O) B. The function is never decreasing.

(c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is constant on the interval(s) .
{Type your answer in interval notation. Use a comma to separate answers as needed.)

(7 B. The function is never constant.

Answers A, The function is increasing on the interval(s) {- oo, 2),{3, 4) .
{Type your answer in interval notation, Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s) | (2, 3),{4, co) |

{Type your answer in interval notation. Use a cormma to separate answers as needed.)

B. The function is never constant.

ID: 2.2.9

2) v fggei

(I-fcrec.s:q) (? 3) L/( W] g
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/X"/”’lw) = -—-S' Hh'"‘"uh_h

A
7 }’hqx - /OQ

8.
The graph and equation of the function f are given. ,]l\ f(x) = 2x> - 3x% - 36x + 5
a. Use the graph to find any values at which f has a relative L~
maximum, and use the equation to calculate the relative ( T iy : N
maximum for each value, -&) F vy
b. Use the graph to find any values at which f has a relative /'\ L W‘ \
minimum, and use the equation to calculate the relative T e
minimum for each value. 3 (" iy G)

[-551]by[~- 10010010]

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

(O A. The function f has (a) relative maxima({maximum) at and the relative
maxima{maximum} are(is) .
(Use a comma to separate answers as needed.)

) B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

J A. The function f has (a) relative minima(minimum) at and the relative
minima(minimumy) are(is) .
{Use a comma to separate answers as needed.)

) B. The function f has no relative minima.

Answers A,
The function f has (a} relative maxima(maximum) at [ -2 l and the relative maxima(maximum) are(is)
49

{Use a comma to separate answers as needed.)

A,
The function f has (a) relative minima(minimum) at 3 and the relative minima{minimum) are(is)

(Use a comma to separate answers as needed.)

.!—v.r'
ID:2.2.15 VfBz” /aF nnj Ca/m\/q

H___\j’g ZX 3

e S

%}’V?CL,}/ - r
~/00

—-—._._|_\__‘_\_"\_
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if x<3 O/é‘/// Ci/CL(

9. The domain of the piecewise function is { - co,c0). x+1 i
a. Graph the function. fix)= . - ,
b. Use your graph to determine the function's range. x=1if x23 I ,,5‘{/ Ciwlla

a. Choose the correct graph below.

) C.

b. The range of f(x) is ! l {Type your answer in interval notation.)

v, = X+ == (x<7) 0P
\71‘.: X— | —:—()(3'3> Close

i X/”hv) =~/ <
. L' })
f \7141!') T—

4

ID: 2.2.47 ng Y /‘)
o 2 — .,':'] — —
10. f(x + h) = f(x
Find the difference quotient of f; that is, ffind 'u—)-u Jh #0 for the followung function. Be sure to simplify.
2 S Rl /
f(x + h) - f(x) h

. =[] (simplify your answer)
Goh) (k) x5 5 A FYA=Y
A

Answer: 2x+h~-4

X athtoAh- #h‘w‘f Xy hry Xty _

ID: 2.2.61

)(—-FZ,X)W-—('/') ——:f/—-‘//')—ﬁ‘_/f /L—r-ﬁ/x-—*/ o
A

th—rhz-—‘/ﬁ _
24 h l»—-ﬁ’f’—::
4 -4

ey

h

Cexth=% =5

1of32 52042019, 12:0 N
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11.
Use the graph of y = f{x) to graph the function
g(x)}=flx-2)+4.

correct graph of g below,

y = f(x)

9= fo—2) o )
ShiZa Risit a0 /'5/4 AL wp c/)

ID: 2.5.21
pr— T _ ~ g P o ———— o
12. Find the domain of the function. m
f(x)=‘\/15-2x Ma'ﬂ

\
What is the domain of f2 /?)( )= W\)

: (Type your answer in interval notation.) A X,_,(. )3 .
Answer: (- 00,8] 7[[)(I < (//6"‘ X

Ak [~ =0 —
D2B 6ok A2 0T .
—{ X =Z /6
-Z?< & /6 cl\w/f |ojn«
e — — /jcﬁ/vvf "‘-/‘7

)(é 15 {//()q}uf’ (/UM//

5/20:2019, 12:08 PM—-
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13. f
First find f+g, f- g fg and E Then determine the domain for each function.

ﬂ! 3% - 14x - 24fg(x) x=-6 / /‘
50 7 S <

(f+a)x)= l (Slmpllfy y?ga:;wii-)—/ oy (f) 4 /)/ ¢ ) -

3yl X—8x TXTE T

° [-%e) (xt=13 x—30 )= &
S [-m,-%]u[-%m] <c]qmam (O"O”) >

O (-00,00)
O [0,00)

(f'Q)(x)=|:|(Simplify your answer.) 74)-/) S ﬁ 6() =
What is the domain of f— g? /3>/ '—/YX —'Zf-/) - K’( G ) -
O (-00,0) 3)(1"_/(// Z,y,___)(_/_éh

What is the domain of f+ g?

@] _s 3 1 _ 7 -

O{£.m1)3'] X [ SX— /7 (G/hcv:-\ (pd /,1/)\
el

(o= |

at is the domain of fg? 7/6(-7 ‘ jﬁ(/ -
gh [_tE.:] : (3 x v x—2v) (v—6) = < clum.«( — /;,,-)/

o<oooo) 3>/ /ZX —IV)r_j-Z X zy,(—,a/yy_

O (e tuf-8]
Q&zg( +GOX+/Y§/)/
&,

O (- 0,6)U(6,00)

[ ] ()= !:] (Simplify your answer.) //)( ) .
J .
What is the domain of é? 3 )/ — N — 2y

(6.00) . = —=
(- 000) Cx+9)cx—¢ D _——dIrea

(= 00,6)U(6,00) =
[0,c0) ( )( - G) »

o ) =7

ONONONE

8of32
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Answers 3,2 . 13x - 30

(- co,00)

3x% - 15x - 18

{= c0,00)

3x> - 32x° + B0x + 144
(- co,00)

3x+4

(= c0,6)U(6,00)

ID: 2.6.356

——

a. (fo g)(x); b. (g o (x}; c. (fo g)(4). d. (g o N)(4)

a. (fog)(x}=

(Simplify your answer.)

14. @-’ 8x ahd @f 2 find the following functions. /é 5)7/) _

L F(5s)) =
07_()(—12_;
Cixrte 2
(3(!)[)90 N
j//r,z))c'
55 -

b. (gof)(x)=
(Simplify your answer.)

c. (fo g)4) =i

d.{gof)d)= |

Answers 8x + 16

8x+2 (87() ’Tc 1
! =

ID: 2.6.51

9of32
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i ' . . 4 )5( Ve i n
15. F rf(x)=x«f- 13 and g =5x_+_14_.,.ﬁn’gl the following functions. ( 7 - Oj)()(, C AT X5

o Q)X); o : o : o 7 ) : /
a. (fo g){x). b. (g o f)(x). c. (Fo g)(1). d. (g o f)(1) ( SZ é:)) Fjj)(]) T s/
a. (fo g)(x) =/ (Simplify your answer.) > X B .
- YPP=s7s

b.{gof{x)= (Simplify your answer.) y )(""C// - /f"—_ =
SAtAf 09) (1) 7 /0

c.ffogn=_ | ] .

d@ofiin=_____ | - FQ),)(:{/S); Gut )= SX+9

Answers 5x+ 5 ﬁ())) #{/E aI;,--“’: ﬁ \\0 (I) Z 5'//}__{ 7
I fet [ b)) 577

Q

5x+9

. Ceys f ey T
14 fj({—f’:)’—w‘tf-: fﬁéd@(” ‘—76

-—

K~y 7Y =

ID: 2.6.53 X T

16. Forf(@.a%g(Wnctions. (Aj/;()t fﬁ’f){){/: —-})( l_)(__/

a. (fo g)(x); b. (g o N(x); ¢. (fo g)(3); d. (g 0 N(3) /e S¢)) [A’j/U/ T ~303) g3/

____-F-_-_-_-_'"—‘—-—-—._

a. (fog)(x)=! G\ txry)s / —

(Simplify your answer.) Z N ( 3{1’7“(-"}) ;5 fﬁf _— "'Z’j( 3){ 3 } '_0 / -/
=T - f = 7 —3 —

b. (gofix)= / —l

(Simg::rlify ;our answer.) {— 3 X l—)('_'} - / = ‘W/

.ff (yj"' 3)(1._{3(
o @or- ] Gaf . / -7
?(/j)i | ﬁdoﬁ):?(vt—umv‘/)
: j = 303)03) — (303 ¢ ;

Answers _ 3,2 _y _ 1

2 j(z,./)?; — a
3" - 13x+17 . .
31 3(2-,{)L—{~ (2-x¢)-t3 5 — 7 377‘/7
5 3(1:.,4)(3_)()-—%(5-')91* ~ §
o — W g -+xY) € (24 )3 =
ID: 2.6.59

SN VRV FAVISPA N BN ST

10 of 32 5/20/2019, 12:08 PM
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17. Find ﬂ@l;u;ef{etween the pair of points. 4 (./('r —3() 7‘/ 7 ’"702
(10,8) and (22,13)

Y Y A9 CIF(/(%"(“)) (% "‘(‘3

The dustance between the points is I:] unltsc_J .
{Round to two decimal places as needed.) (/(/ o= L) -7 ( 7
Answer: 13 (/(_fy .-r—("'b‘j’

: '“a
S Srroe 47 /3
ID: 2.8.1 S m—i_

18. Find I@;‘."oﬁaathe line segment with the given endpaints. m o/;; /:«)_—f__ﬁ/ 7{_/_)2_ —7} ~ z =
(2.8) and (6,4) '—Z:‘ Tz )
Theridpoint of the)s:_g'ment is : /% (‘7// Ftrn,l': ﬁ 2 ) A ;) 6 / .ﬁfcf £/
(Type an ordered pair.) —_— /Z )
J
Answer: (4,6) l %PU,TI /2 . C f‘f&/
ID: 2.8.19 =0
/4/' ( V/ /ﬂ v % / 7 _[__
——— 2_
< l!// ;/ o = ( 5‘ e ) e
/

1 of 32 5/20:2019, 12:08 PM
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19, _H"__HH:;;
@a and write the equation of the circle in

standard form. Then determine the center and radius of the

circle to graph the equation.

x2 +y% +10x+6y +25=0

4 Gj

—
—

Y #0 X e

{Simplify your answer.}

Use the graphing tool to graph the circle.

X154 (ol oty S 690 (HED =257 ff/o))-/l(q?
/ff/o;(—-r(g)ﬁ'-j —fé‘?rf/?) -—2r—ﬁ($‘)+/3)(— f‘r

)(\:07—7"2 7Y —f67 +9 =

(X'-ffﬂ()(%f) o

Answers (x+ 5) +H(y+ 3)

Ay
10+

The equaZn ml(t;ndard formis ‘ .

(7 «~3)(9+3) = 9

https://xlitemprod.pearsoncmyg.com/api/v E /print/math

Ay

—/'/SZ»—f— Z/f'-(—ﬁ

v

Ny -

ID: 2.8.53

-

[=/
-

Cf (vl —

104
B_
[
4
2]

iy x

11 T M ] N ] ] >
2 4 & B 10
(.

D=

-8

107

C ¢
(X#s) +(9+3) =
Céaprr

¢

—
.

(-5 3/
/i =2

—

5/202019, 12:08 PM
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v

'-/
20. In the following exercise, find the coordinates of the vertex r the parabdla efined E; the gwen quadratlc function.

f(x) = 4x% +Bx + 2 _ Wlb( : ’_ f /
The ven;)z;‘. _é > L S (-'pr%an ordered ﬁall') Z’fzc.f / ( ,j 2)(?)/ / ﬁL 7 + /
— — ) e

Answer: (- 1,-2) V,/Lf" = ( ( ))

ID: 3.1.13 s “/./ 96(”’7 -f-)7(~/)+';__)
ek, =) FENDF P07

21. Find the coordinates of the@ékf} the parabola defined by the given quadratic function.

f(x)=-x2-6x+5 P
Qs~{_ k=" C <

The vertex is ' {Type an ordered pair.} L ,é.'_
Vrleg < -—2;] 2

(-3,14) Y
ID: 3.1.15 : ’ch% 7{(2(:\))))
=( A FE)
= (3, 7/ ~1)
= (-3, 5) 6 )

13 of 32 5/20/2019, 12:08 PM
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22,

tercepts to sketch the graph of the Ay

i equation of the parabola's axis 1o

. Use the graph to determine the domain and 5_'

range of the function. ]

2 5

f(x)=(x~2)" =1 1

4_

Use the graphing tool to graph the function. Use the vertex 24

and one of the intercepts when drawing the graph.

The axis of symmetry is . 0 B8 6 4 -2 )| 2 4 & 8 10

(Type an equation. Simplify your answer.) -2
The domain of the function is _,_1
({Type your answer in interval notation.) 4
The range of the function is -5
{Type your answer in interval notation.) &:

Answers

x=2

(— 00,00)

[=1.00)

D: 3.1.17

:

= )//”7 =
X el = [T

y M 1y = "_/J \
7)?7 < S/ s
14 0f 32 /// 54 2.08 PM
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23, " "

Use the@ and;fntercepts to sketch the graph of the jry

quadratic ction.'.\C-:-ive the equation of the parabola's axis 104
of symmetry. Use the graph to determine the function's B:
domain and range. ]
f(x) = x> +6x+8 &
4+
Use the graphing tool to graph the equation. Use the vertex 1
and one of the intercepts when drawing the graph, 21

7 ]

J_'T_T_'F_T_'F_'r_F_l_T__F_F_I_'r_'F_r'F'_'['_F_r""
The axis of symmetry is | 00 SL6 2 et o - B W

{Type an equation.)

The domain of f is . ‘dj

{Type your answer in interval notation.) -6
The range of f is . -AH
(Type your answer in interval notation.) _—_-_'_—T?F

Answers
.—_____________.-—’
)(,ML'/ ap b i

ke
i
|

Aol SRR - 5._;4991%& /ck [ Jor
x==3 ’l
7, ~ X = Gx—~Y -

(= o0,00) //’/
ID: 3.1.27 )(ﬂ o ‘—/ﬂzﬁm“‘
/""L;« — /L
P = 1O
PL=
‘*-..L__-_____-___-_ _

[~1.00)

— —

150132 5/20/2019, 12:08 PM
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24,

16 of 32

Use the vertex and intercepts to sketch the graph of the
quadratic function. Give the equation of the parabola's axis
of symmetry. Use the graph to determine the domain and
range of the function.

f(x)=2x- x> +8

Use the graphing tool to graph the equation. Use the vertex
and one of the intercepts to draw the graph.

The axis of symmelry is ! ]

{Type an equation.)

The domain of the function is { {

{Type your answer in interval notation.)

The range of the function is [
{Type your answer in interval notation.)

Answers

/ML”M{)/ :
()8

%Mf—wfﬂl'

https://xlitemprod.pearsoncmg.com/api/v1/print/math

E—Z/o)
0 8 6 A4

M-
-
o
-
3

\
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royh Ofr s
25. consider the function f(x)= - 2x% + 4x - 5. Vf/l—*’;( )) ? Vw N s

a"-p’z— “T ""_'\
a. Determine, without graphing, whether the function has a minimum value or a naximum valu
b. Find the minimum or maximum value and determine where it occurs.

. 1dentify the functi d dit
c entify the function's domain and its range. fo b( ( / y)
2(—1)

21
a. The function has a (1} value. / /

b. The minimum/maximum value is . It occurs at x -! ( /[(:’:.-_Q )

c. The domain of fis ! . (Type your answer in interval notation.}

The range of f is, l. (Type your answer in interval notation.) '-:( [) /( / ))
1) st =(l, =2 (1)rs @)
) | = (] ._g(/)//) SN =)
nswers (1) maximum /

. = (] —CL+% % )

.1

(= co,00)
(-00,-3]
ID: 3.1.41

26. Divide uﬁng synthm, ? ’ 2 7 — 7 L/

(2x3+7x2—9x+4) +(x~4)

(2x3+7x2—9x+4)+(x—4)=:+= “ ' 'S-( @

(Simplify your answers. Do not factor. Use integers or fractions for any numbers i

Answers 22 + 15 + 51

208

ID: 3.3.21

27. 3olve the equatior" x> +2x% = 5x-6=0 given th@ zero of f(x) = x> +2x° - 5x - 6. Z ) l Z -5 - G
The solution set is ﬂ:} {(Use a comma to separate answers as nquiad J I Z -

Y
WS4 3\ 3 (@
’(7#%(7‘5’“’ ( Hw"“' /"’y)(—f-}’ o

Answer: 2,-1,-3 G(’f{)g'f-]) . é\ y a”’(wf_
ID: 3.3.43 Xfﬂ’_o 0/( X352 - | \
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28. The following function is given.

fx)= 3x° = 7x% = 75x+ 175

- - —_—

/ e —
a. List all rational zeros that are possible at_:_g:_&‘ding to the Rational Zero Theorem, Choose the correct answer below.

La S A~
1 3 1 3 1 3 1 3 1 3 —— -
DA 2haddgagiqgeqiy gty iyt
it

o 1 3 1 3 1 3 1 3 1 3
A i T e T T It
S e 1 5 10 7 35 175 }
. % .iS,t 0,17,135,1175,1:3,13,1 s,is,i:ii}\ ] = 5
o __—'_'—'_'_'_'_'_._._'_ ./
Crrere e N N T DL )
C 1,25 +25£7,£35 1 ,ta.ts,:s,is,iw,.. \,j_/l
LSS

b. Use synthetic division to test several possible rational zeros in order to identify one

One rational zero of the given function is
(Simplify your answer.}

c. Use the zero from part (b} to find all the zeros of the palynomial function.

The zeros of the function f(x) = 3x = 7x -75x + 175 are
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed.)

A"sweg’o £1, tq5.i--25 ¢7-¢3é¢175 1%1%&2—5 tg 1_3?5_*% -_-chf Se 5“7’”[4(!”“ \
_7_ = T S ‘Vi)/-‘_'_;:l__ e
: -} 3 =1 775 75 -
15-5 "—{S_ /,/Q ""‘"{ 7\"
3™ —

2 =27 35 @)rr»\
D3 3t X 73572 B
Cx-7G=5) =©
W P A~1=e ot KSE O

27+ 7=0F7 A )(~>’~fr Oy
A
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29. The following equation is given. é G A
3_,.2 = =
X" -2x° -25x+50=0 F—
WS L

a. List alirafional roots tha possible according to the Rational Zero Theorem.
D —————————— ’/_-_-—-

{(Use a comma to separate answers as needed.) l

b. Use synthetic division to test several possible rational roots in order to identify one actual root.

One rational root of the given equation is :

{Simplify your answer.)

¢. Use the root from part (b.) and solve the equation.

The solution set of x -2x —-25x+50=0is {:}

{Simplify your answer. Type an exact answer, using radicals as needed. Use j r fractions for any numbers in the

expression. Use a comma to separate answers as needed.) o -
R Synthti d{vis
P oy

_— ‘\__ Y —— -
@rﬂ.-1.5,—_5_.50_.—30.2,—2,10,-10,25,—_2ng SN I S N e

2 ey

2.5,-5 < | { —Z. —7 5 §O
. (s —sV
ID: 3.4.17

X 3y 70 Fo

(=) =
-1 =o o XTITe
C—1+2 07 OA Xts—§¢ T 07s

T s JA SN
C//K// Q_/,/

—

- S— ™

—_—

—
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B
o

30. an incomplete graph of the polynomial funct_iohﬁf;(x) = -3 +3x2 +13x- 15 s )

shown on the right. \\ - \

a. Find all zeros of the function. N ——

b. Without using a graphing utility, draw a complete graph of the function. \/

[-5, 0, 1] by [-30, 35, 5]

a. The zeros are l:'

(Use a comma to separate answers as needed.) bt

b. Choose the correct graph of the function below. The scale for each graph is [— 10, 18, 1] ;[ - 80, 65

ID: 3.4.53

o

T ——

S — . — ___-___'—_‘—-—.-—______'

31. Find tHe vertical asymg_tgggs\?if any, and the values of x corresponding to hales, if any, of the graph of the rational function.

x+3 A )(({'_f‘f ~ - M
"= x+8) < Y=o O)/L )(%37':@)(”/7 bo Ho -

Select the correct choice below and, if necessary, fill in the answer box to complete your gchoice. (Type an equation. Use a
comma to separate answers as needed.) //_ )( 7, i —
—0 o +~F=0—"%

) A. There are no vertical asymptotes but there is{are} hole(s) corresponding to

O B. The vertical asymptote(s) is{are) . There are no holes.

) €. The vertical asymptote(s) is(are) and hole(s) corresponding to

. P —
— = X~ -
(O D. There are no discontinuities. @ d d- 37

Answer: B. The vertical asymptote(s} is{are) . There are no holes,

ID: 3.5.23

e R
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32. Find the W any, and the values of x correspondlng to holes, if aAy, of the grap

x=4 X"" </ (/("{V

—

e R v B 2 A

Select the correct choice below and, if necessary, fill in the answer box({es) to completéwyour chonce {Type aninteger or a

fraction. Use a comma to separate answers as needed.) /- f
| = -5

fix)=

O A. Vertical asymptote(s) at x = and hole(s) at x =

O B. Vertical asymptote(s) at x = LA )( —s =

(O C. Hole(s)atx= /\/'-) 775 -

(O D, There are no discontinuities. — N\
Answer: A. Vertical asymptote(s) at x= 5 | and hole(s) at x = 4 '

ID: 3.5.33 I/C/»,Ll J g,_57 ‘MWAJ )(C >

—

33. Finghe horizontal asympt&},ﬁ‘any, of the graph of tr}e rational function, {/ X __/_‘..
/i 4\’ X
11x —_
f(x) = /17y 2L - / e

2, A l -
sxte1 X Y & | ;(LL X— 00 —f-)(,L )(___700 'S-_r,(L

Select the correct choice below and, if necessary, fill in the answer box to complete your chaice.

"

(O A. The horizontal asymptote is . {Type an equation.)

() B. There is no horizontal asymptote.
- T,
Answer: A. The&onta/lj?‘n}&te is - (Type an equation.)
ID: 3.5.37 @":u vt A ﬂSjmﬂf'J;L( )
. e —_——— ———

34. | if any, of the graph of the rational function, Z Q/ﬁl Z y
2yyl
- Zx:%)j\?‘ /i ?xl “/”‘“ 2%

Select the correct choice below and if necessary, fi II in the answer box to complete your chonce

m—

) A, The horizontal asymptote is . (Type an equation.)
") B. There is no horizontal asymptote,

Answer: A, Th@;ntal asy}njﬁlote is l y=3 . (Type an equation.)
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35. a. Find thefslant asymptot of the graph of the rational function and b. Use the slant asymptote to graph the rationai

function. ¢ N '_3-_/ { _,‘ _ L ste h,{- A}‘f*ﬂﬂgt

_ XL Yy
f(x)= x-3f____F§§£';/\ e | = @(w ( )( ;

a. Find thg slant asymptote ofthe graph of f.  Select the correct choice below and fill in any answer boxes within your
choice )( =x - t7,-|.,,l_r/¢;_’/) /r/- A =iz
'-.. /-'__-—-
@{y - X~
O B. There Is no slant asymptote. _ ( o) —fo/— L
b. Use the slant asymptote to graph the rational function. i
\
First determine the symmetry of the graph of . 7 /
o)
O A. The graph has y-axis symmetry: f( - x} = f{x).
(O B. The graph has origin symmetry: f( - x) = - f{x). 7 T
(O €. The graph has both y-axis and origin symmetry, i 2/ '
A Thergraph ias neither y-axis nor origin symmetry, /- =
@ P y gin symmetry. 7 2

|
ind the y-lntercept(s Select the correct chqice,bﬁfow and fill in any answer boxes ivithin your choice.
—_— -7 = O
‘:3/ The y-intercept is ) )( —~i ] bf“?/ + /Y [2

{Type an integer or a simplified fraction. Use a comma to separate answers as nee
(_} B. There is no y-intercept. A“"L) ===

Find the x-intercept(s). Select the correct choice below and fill in any answer boxes within your choigé, l — o

X+ ==

(¥A. The x-intercept is . )(-f ( —{ = =0 / 0K /(-—(—7"2 - UTL
(Type an integer or a simplifi ied fraction. Use a comma to separale answers as needed.)
(_) B. There is no x-intercept. /(,_ W //,/c . }j A/f_-,_. / ] 0(@
Find the vertical aSymptote(s) Select the correct choice below and swer boxes within your choice.
f 2 fead ol Do
A, = ﬁu Ve, ¢ a57m/ -
{Type an rnteger ora 1ed fractron Use a comma to separate answers as needed.) )( 3 el 3 V73

[} B. There is no vertical asymptote. V@ /"l'l c _/( &S 7”_ 7 A/ )éc (,, X‘*——-—--h.__\‘

Find the horizontal asymptote(s). Select the correct choice below and fill in any answer boxes wrthW

D A. y=
{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
B. There is no horizontal asymptate:
B 7]

Plot points between and beyond each x-intercept and vertical asymptote, then use the information above to graph the
rational function. Choose the correct graph below. .

O B,

5/20:2019. 12:08 PM
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Answers A, y= X+2 |

D. The graph has neither y-axis nor origin symmetry.

A. The y-intercept is

2

3

https://xlitemprod.pearsoncmg.com/api/v [ /print/math

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A, The x-intercept is I -1,2 ;

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A x =| 3 (Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

ID: 3.5.85

5/20/2019. 12:08 PM



MAT3 idFIESTACOREQ 1414READY059-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/apif/vI/print/math

36. Graph the given function by making a table of coordinates.

( f(:;;@

Complete the table of coordinates.

X -2 _ -1 0 1

y !
(Type integers or fractions. Simplify your answers.}

Choose the correct graph below.

) cC.

: 4 L= -5 e
5 //“?)‘3 S ~[| V3
ol |
| 3
P Chn
g

ID:4.1.11

5/20/2019, 12:08 PM
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37.

The graph of an exponential function is
given. Select the function for the graph.

ldentify the function.
O A f(x)-s"‘ OB =3
APSWer: D, f(x)= -37 {(—l

o) = -
ID: 4.1.23 )/(D -

38.

U/M

o
Find thé domdin of the logarithmic function. ™

f{x) = log (11 -x) — //'— X 2o QL”""QM
The domain of f(x) = log {11 -x) is L //" X230 —1f 66) (4/\4//3
(Type your answer in interval notation.) ____\/ >~ / / Lk )('-'f ﬁ >

Answer: (- 00,11} ")( < ""( %— _)

ID: 4.2.77 - @ ( i }?

39.

Uge Eropertles of logarithm expand the logarithmic expression as much as possible. Evaluate logarithmic expressmns
without using a calculator if po

logbxz—y lo; 6(17)"—5(’//9/? . 3
[za] (a)/e()(9+60 (9)— o5 () =

2

i RSN TN

250f32

Q [{?7 (AAQ /(/60;4(;4) )
_ R e

|D: 43-27 %;/’7 -
Z%% Ao, (37
w/ &/519(/47 ”I"/ﬁ;é /5/

5/20/2019, 12:08 PR
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40. Use properties of logarithms to expand the logarithmic expression as much as possible. Evaluate logarithmic expressions

wnthout[ usmgaca'c‘”'amrizﬂ(e v W; 5 / /Zﬂ —+3) ~
n| s _}w(//’f/é' Vo %3 /Zﬁ/—f:f)
[J_J S — /é’»(ﬂ/—f%(/f/ — b eyC

(x+3)° TNrs) —+ £ LK 53) — 6/46(7‘3)
Answer: x,,l,,, (x +3) - Sln(x+

* ﬂrﬁ%é % (9 i) ) (__ ioﬁ?b

SR S yn) < AD)-+A 5

T
41, Solve the following exponentlal equation by expressing each side as a power of the same base and then equaling—————_

exponents. 2 X+ -2 —tI < ~/Yy
X+3_ ,ox=2 (2 ) (2 —7 )<
47 7=16 ZA’»fQ X - s
The solution set is:} ge ; ~c
2X+6 = ¥ X% X=7

Answer. 7 Zl(—f‘,é-//é — (;)(-—7—-6 -
_ 2f = X7
B 12 Qg__-—y £ = V;_{_/»—/ >f——4f_u:_ ee—— ——

natural logarithms. Then, use a calculator to obtain a decimal approximation for the solution.

7X
3¢ =540 3¢ ~ 5_35/_‘3

What is the solution in terms of natural logarithms?

The solution set is :}

{Use a comma to separate answers as needed. Simplify your answer, Use integers or fractions for any numbers in the

expression.} -/z'l (CP ;7 /d, ( / ﬂ-’ )

What is the decimal approximation for the solution?

The solution set is C} X /ﬂ"l (’(} = ./g"' (/ 7 0)

(Use a comma to separate answers as needed. Round to two decimal places as needed.)

s n 150 T ()= M (170) @iki/f’;f |
7 7;\/:/4-//{’“) ‘ éJ]V{X%’Oﬁ?V )

e go

0.74

ID: 4.4.31

Bof32— ] 59007019 17-0% P
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43. Solve the exponential equation. Express the solution in terms of gatural lagarithms. Then use a calculator,
decimal approximation for the solution. 67 "'"j /z 2 v/ )

g** 1) a4y (/\((,)/(Z,_,/f) = 4, (2¢1)
What is the solution in terms of natural Iogarithms?é/ ‘4 ) _,ﬁn m = M
The solution set is {: W’ _ j" / f)

(Use a comma to separate answers as needed. Simplify your answer. Use integers or fractions for any numbers in the
expression.) /éq 2y /

X+ | =
A (T

Thesolutionsetis{:}. X | — iﬁf‘f{%D . /‘ 6376&?77}
(Use a comma to separate answers as needed. Round to two decimal places as neéded.) — f e P
nswers In M S =
e CX =55 = >
1.64 : Ofﬂ’
X 1! 2

ID: 4.4.37 e
T____.__-__________....———-— B

What is the decimal approximation for the solution?

44. Solve the following logarithmic equation. Be sure to reject any value of x that is not in the domain of the original logarithmic
expression. Give the exact answer.

s~ |
log ,(x+23)=5 —7 2 = X2 V-rb\/r/l(

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

2.0 21T = X+423
) A. The solution set is { }. (Type an integer or a simplified fraction.)
() B. There is no solution. 2?0 T X723 -

3&——171 X—fZ/f /{

Answer: A. The solution set is { . (Type an integer or a simplified fraction.)

ID: 4.4.55

- e
45. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain o$1ne onglna ogarithmic

expressions. Give an exact answer.
logsx+ logs{dx-1)=1 7 KC)) S’éig_(f_—_j‘—a) = &5 ('-’) —f{“’)‘ (é(( 1}~1) =/
sx+ logs (= x(ed—r) c,)_f() / i) =

Select the correct choice below and, if necessary, fill i m the answer box to comp te y ur choice

s yxt—x uy [~ ) +Lu ./’f) /

O A. The solution setis { ~ }. (Type an exact answer in simplifi form ) 6’/,1—]) SELD

(O B. There is no solution. O T Gyl — x5 e l I) /
Cex =) (X ;) Loy, \d_f'%/w

. (Type an exact answer in simplifi ejd fo 4'4) —_fluj / s~/)= /

f

Answer: A. The solution set is
Y—s =0

(# — -—
ID: 4.4.67 N—g 5= 05~

27 0f32 - T
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46. Solve the logarithmic equation. Be sure to reject any value of x that is not in the doma of @‘: nlhmi

expressions. Give the exact answer. L‘Jﬁ % ({,f/ 3) ()(-—fC/) - C(f) (-—77H 5)’(‘@_5 F?}-:* ):‘j’
log 4(x+13) + log 4(x+61)=5 (/(7‘/} )ﬁ('f{/)

Select the correct choice below and, if necessary fill in the answer box to complete your chei;l:e = é{# % C‘ﬁ (-/(/ =5

__ SOLT S X C o R0 7738 P

! A, The solution set is { / O z ¢ < f/ 7‘{ —F 7 ) }
i a

(Simplify your answer. Use a comma to sgparate answers as needed )

) B. There is no solution. O z )( 7% X /93 /0w ‘f

0~ xt
Answer: A. The solution set is {I} 7T xX-231

(Simplify your answer. Use a comma to separate answers as needed.)

O < (X —3)(x+7) G
ID: 4.4.69 ——’) — 0 on XA77 59 /
T S A - e e i B s

47. Solve the logarithmic equation. Be sure to reject any value of x that is not in t__e'?ﬁﬁﬁ‘uﬁhronginauoganmmjg

expressions. Give the exact answer/.., / o5 XEl T < 3 'Zd X l 3 =
log 5(x + 18) - log 5(x - 8) =3 . 7)( {’3 Zﬁ,_ /J'Z

3=
Select the correct choice below and, if necessary, fi l% tﬁg answer box to complete your choice; m
—
27- )f_._ﬁi Chdc X

() A, The solution set is { } "'_ =
(Simplify your answer. Use a comma to separate answers as needed.) éo ( G- g) __[u ( q— 3’)

") B. There is no solution, 27()(’_ 7)2..6 { ()(_//5 ](‘w) ) (3,7] (l) 3
E L? X —/ X N—— ;
Answer: A. The solution set is 9 el a)gte ﬁ:{;} e,r'; aQ/ % ’f‘ / { ﬂ\gﬁ-o« c/

(Simplify your answer. Use a comma to s eeded.) Gi v

p >
22 X = X+ 23y = S
ID: 4.4.71 LI ~X = X ~+23%—« .

48. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of the‘original [oiarithmic

expressions. Give the exact answer.  / 5 (<s13) = Cu 9 ()(/(/39 C e é
log(x+13)=log x+ log 13 CUJ ({’_{ /}) - &,) [{3,4 )

Select the correct choice below and, if necessary, fill in the answer box to complete yo chcuce

X413 = (3%
O A. The solution setis { }. )(Cf/}__% — (KoL
(Simplify your answer. Use a comma to separate answers as needed.)
() B. There is no solution. /3= [1x
13 (%
13 , -
Answer: A. The solution set is 12 } /T T

(Simplify your answer. Use a Ws eeded.)
5 : ;
/g ’A &

ID: 4.4.77 /L

\ ———_._______
5/20/2019. 12:08 PM
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CA{( t

49. Solve the logarithmic equation. Be sure to I'EJ? any val7 x that is nc?n the domaifi of the original logarithmic

expressions. Give the exact answer, ﬂ / ¢/ &Jj (_7) ,1(.((} 7—f s/" [ // ‘-{/

) = Cus M)
Cvj/ 7/ '7‘66 )(/2; /5

log x + log (x +5) = log 14 X(xry) :/%

Select the correct choice below and, if necessary, fi sl—ln the answer box to complet

= L R &)j(z)ffév (2750 o5 14/
L) A, The solution set i ; —_ -

(Simplify you:ZnI:wEr. Use a comm}; toxs;par’;f rgwersgsy eeded.) (/05 ( 2 ) 7 CU) (7) é_} (fy
() B. There is no solution. C’( - © _UQ/( é&'u /

)(-'-2 o o7t X+7 = g
Answer: A. The solution setis { P+ O XAf7 - 7 o d V7St

(Simplify your answer. Use a comma to separatean}s as neede @

ID: 4.4.87
——
50. Complete the table for a savings account subject tCabmpoundmgs yearly.
3 nt / e [ 407 é"é
[A:P[1+L ] Jove = (Lo [+ 225 i
’ /7000 T2 oot 3 ( "Fno/7r)
Amounted Number of Annual Interest Accumulated Time t
Invested Compounding Periods Rate Amount in Years
$12,000 4 7% $17.000 ?
Let A represent the accumulated amount, P the amount invested, n the éng_mber ofmpoundmg periods, r the annual
interest rate, and t the time. Find the time, t.
/7600 =12 oo (1.017) y/“) //éf&'//x?ﬁ}}
t= years jc
(Do not round until the final answer. Then round to one decimal place as neede S%/d" / / 175 m 0'/7:'-/

L2726 (7 M{, 0175) | _—— =
Answer; 5.0 fevs # ;I( 5 ‘0( { rg'f{/i? GM
[/

[, 4/6¢ = [/o/7~. ¢

. A (1 vr6c) - b, (/ﬂ/ 75) | "
ID: 4.4.107 b T .5[{_‘2_“}'; <ﬁ_® -

51. Compiete the table for a savings account subject to conttnuog; compounding. ' R T
w2
(a=pe™) adiney ’--70006
Amount Invested Annual Interest Rate Accumulated Amount Time t in years
$7000 10% $14,000 ?

Let A represent the accumulated amount, P the amount invested, r the (anr'\tal inter, /esfrateh and t the time.-Find the time, t.

&Y o
W e Fous LR C TR ) L jee

(9]¢ ]
(Round to one decimal place as needed. ) /o é 7 \ , / > P /3

2=
Answer: 6.9 /ﬁ“fz) /f\(f /dé)
ID: 4.4.111 //&6/2)‘ "/";f"/?//
)= 19l )/

- Ay
29 0f 32 &_,_\

5)
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52. An artitact originally had 16 grams of carbon-14 present. The decay model A=16¢ = 0000121 o qeribes the amount of
carbon-14 present after t years. Use the model to determine how many grams of carbon-14 will be present in 6375 years.

The amount of carbon-14 present iéﬁf@ﬁars will be approximately [ grams.
(Round to the nearest whole number. A’ / —CO.,000(2/ £

Answer: 7 A /G /l(— O. voofly @57{’))

_ IDasis (}i 7 '}'?9702,7 juS/ﬁj‘f

53. Prehistoric cave paintings were discovered in a cave in France, The paint contained 15% of the original carbon-14. Use
the exponential decay model for carbon-14, A=Aq ¢ ~0.000121 44 estimate the age of the paintings

—0 Ay
The paintings are approximately- years old. { oun/gme(nearezt mteg’;rﬁ)q {)
——Oo000/li¢ /12(,/ J2 = 0. 000121 € bnrPs
Answer: 15,679 /=00 6..0 O} j(e/('} = =0, 0velll(L (1) KOL\,(
A Lo & ) Hlor) < —0.00v1(21 ¢

ruo — -~ -
D:4518 /o e—ua",chu/z/{r/ ~0, guo (i1 0, OV I?f 1567‘7 2

— dfgﬁﬁr’c
54. In2
Use the formula t= e that gives the time for a population, with a growth ra e hefottowing ——————.

questions, ﬁ 2 C L00¢

The growth model A=2¢ 0.008! yescribes the population, A, of a country in mltllons ty ars after 2003.

O

a. What is the country's growth rate? (f 2 O 0 ) ( 4

I i

I $ox 2f@

b. How long will it take the country to double its population? [ 2—*’0 ( é
0 J

| years (Round to the nearest whole number.) 2 =

Lo RS

lice)e o0bec b
| IDias3s Vi (zél }_—_él,&ﬁ e L] / T

s 00

%(Uf—‘ g.00¢ €
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55. Solve the given system of equations.

T

X+ y +8z=-44

x-8y-7z= 40 ! '_3 F’? Q"’ i 1221/0 M\“[’f"x{ M_[4 /’/{/

Select the correct choice below and fill in any answer boxes within your choice.

() A. There is one solution. The solution set is }f vt / ([ A j )

I 2

{( , . )}. (Simplify your answers.)
(O B. There are infinitely many solutions. 7O NV
() C. There is no solution. ) O/ @
22
Answer: A,
There is one solution, The solutionsetis {{_ =3 =1 . ~5 ')} (Simplify your
/ -

answers.} P

ID: 5.2.5

L4 = ==
e _‘_‘—--_..._.

56. Write the f rst four terms of the sequence whose general term is given. Z
L ;"x_ e éQ}- =
nTn+d | 3
= [_] (Simplify your answer.)
8y = I—_| (Simplify your answer.) a 3 -
ay = I_——_| (Simplify your answer.)
= i:_-l (Simplify your answer.) a 3 <
G /‘7‘)
T

Answers

w|m :[m tjin o]
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57.

Find the indicated sum. Y kik+4)
k=1

f (1+v )+ 2 (ere )~ 2(3r¢ ) =

3
Z kik+4)= (Simplify‘your answer.)
k=1 [(S)+i(6) +3(7)-

s’—f‘/z-f27 =

Answer. 38 e

ID: 8.1.33

— e
58. Use the binomial theo;em{o} expand ll}& blnomd

(5x-3)° C /5"(’)(1’)*" C‘/)OEV% C‘(W/}/f C({/Lj/
(f,,;l,"—nv‘i"“’i'f*}?'f"i”b//r At (35 )+ (D) ery
1254° ;;5 stz)f’f 143 (1)) 3)7‘/3//37)(77) +(1f-c3) -

ID: 8.5.13 25';(3-—- 2_2_1“,( 7‘fo)(‘£7—_\"

59. Write the fi rs@terms of the binomial expansion, expressing the result in simplified form.

(x +8)*

The first three terms of the binomial expansion are il

a
Simplify your answer. Z——
e < Wiyt C/fd/x/ " SIET

Answer: x4 + 3253 + 384x°

vn (14N 1)4 (¢ v/f) + (8/(4 )5 -
P el
< y* T 30X 4 3 7yxt

/M“Jé /Z/é hWey 0O ’ C_‘ |
N )/74\ Yis ‘e | = e \) “Se STZES
G punds, /Z/é niv v = g Celel ot
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